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= ~ (12%) Consider that a firm produces one product with only one input, labor. The
quantity of output and input are denoted by q and L, respectively. Over several
periods, when the price of the product, p, and the price of labor, w, change, the firm
reacts by choosing a different output-input mix as follows:

Period P w q L
A 1 2 3 1
B 2 2 6 4
C 3 2 9 9

1. If we know that the firm has maximized its profit in period A, what is the marginal
product of Jabor?

2. Is there any evidence that the firm is not maximizing its profit in period B and
period C?  Why or why not?

3. Ifthe firm could also produce 12 units of the product by using 16 units of labor,
what ratio of w over p might it be chosen to maximize profit?
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Pareto efficiency
Two part tariffs
Natural monopoly
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Coase Theorem
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1. & %k 2. BHEMRE O3 RETHEHR 4. pefn
5. tbemAlERE 6.GDP 7. GNP per capita 8. menu cost
9. purchasing power parity 10. learning by doing
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